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[AETITREIT 39T %1 €qqde 916U 3R 37T Ici #ifog :

(i) 39 §97-Y7 7 33 F¥7 & | @Yt J97 AT & |

(ii) ¥8 Jv7-97 qie @US1 4 [997foid 8 - @U8 &, &, T, G0 & |

(iii) TWUE & - 97 &I 1 & 16 % Fgldhcyid JHR & J97 & | Jd% o7 1 3% HI
& /

(iv) @UE G- Y97 G&g7 17 G 21 % 37 TH-3T09 JHR & o7 & | I 4% J97 2 371
H & |

(v)  TUE T F97 &1 22 T 28 T TY-ITT YR & J97 & | 9% J97 3 37hl &1 & |

(vi) VS T FI7 GEIT 29 74T 30 FT-ITERT F97 & | I 9 97 4 37H] F7T 3 |

(vii) VS F- Jv7 G&I7 31 T 33 FT4-3TT JHR & J97 & | I4% Jo7 5 3751 &1 & |

(viii) Y97-99 H GHI [dhcyq &7 1597 TI71 & | JE, T8 & & 3akw 37 T4 @Usl &
P J9] § STaRF [dHeY HT T 1397 77 8 |

(ix) &JMH 3 I& Gieaned Rendal & o7 S7ei J97-97 & |
(x)  Fogpeicd H ITINT afedd & |

EUs <h

Y97 &1 1 G 16 7% Tgldbcdid JHR & 1 3% & 97 3 | 16 x1=16

1. 3Tl 51eAm § MnO,, & 1Y Sog‘ ¥ ITTfieRToT T 3T 2

(A) SO, (B) SO,

2— 9
(S D) 8,05

2. [Co(en)3]3+ﬁ Co ! ITTEEISH TE&T 7

(A) 3 (B) 4
(C) 5 (D) 6
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General Instructions :

Read the following instructions carefully and follow them :
(1) This question paper contains 33 questions. All questions are compulsory.
(i)  This question paper is divided into five sections — Section A, B, C, D and E.

(111) Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

(iv) Section B — questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

(v) Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

(vi) Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

(vit) Section E - questions number 31 to 33 are long answer type questions. Each
question carries 5 marks.

(viit) There 1s no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

(ix) Kindly note that there 1s a separate question paper for Visually Impaired
candidates.

(x) Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark
each. 16x1=16

1. The product of oxidation of SO;~ with MnO in acidic medium is :

(A) SOy B) SO,
(C) 8% D) 8,05
2. The coordination number of Co in [CO(el’l)3]3+ 1S :
(A) 3 (B) 4
(C) 5 (D) 6
56/2/2-12 3 b b P.T.O.
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3. Tofciiad 9%al § € SH-A1 3HRHRd 3 2

(A)  [Co(NHz)s Cls]
(B) [Co(NHa), Cly] Cl
(C) [Co(NHs)s Cl] Cly
(D) [Co(NHs)g] Clg

4., TafafEa & 9 $9-91 df<tfas adrEs 2 2

» U
X
® QI
CH,
,CH,
0-X
o NCH,

CH,, — CH - CH,

D) @/ |
X

5. fAfcifgd & @ fehaehl qat1 § BT H AT 8 ?

(A) U
(B) O-HE@FPI A
(C)  o-HYTFHHIATA

(D)  o-HIyAHHTA

6.  HI % 91 HfRAT ek (CHy)3 C— 0 — CH, 2l &
(A) (CH3)3 C-1+ CH3OH

(B) (CHg)3C-I+CHg-1
(C) (CHg)3C-OH+CHg-1
(D) (CHj3)3 C-OH + CH;0H
56/2/2-12 4 VAN
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Which one of the following complexes 1s non-ionisable ?
(A) [Co(NHj3)3 Clg]

(B) [Co(NHj3), Cly] Cl

(C) [Co(NHjy)5 Cl] Cl

(D)  [Co(NHj)gl Clg

4. Which of the following 1s a benzylic halide ?

» U
X
® QI
CH,
/CH;
o=-X
o NCH,

CH,, — CH - CH,

(D) @/ |
X

CH, ~CHy—X

5. Phenol 1s less acidic than :
(A) ethanol
(B)  o-nitrophenol
(C)  o-methoxyphenol
(D)  o-methylphenol

6. (CH3)3 C — O — CH4 reacts with HI to give :

(A) (CH3)3 C-1+ CH3OH
(D) (CH3)3 C -0OH + CH30H
56/2/2-12 D YR AN Yy P.T.O.

e
gcollegedumaa
India’s largest Student Review Platform

S—



7. UfeatE = 9 9 fopaes vHifeas 9 ffda gt 2 2

(A)  d~3lgeh 3AFA

(B) $HI

(C) afatafes 3w

8. 2l ¢di o feorganefl faeiad 1 9994k 39 SHI ¢di o J924Th ¥ 3T aidl &

Sid Yg

(A) Hqd @

(B) U3ce W 9 g4Tcqeh 9= e9nidT 8

(C) U3ce ¥ 9 =urcqss fa=ar evrfar 2

(D) T3ce 3w 9 his oo 481 29T 8

9. S CuCly % foga-3Tqeed & S

(A) h¥E W H, (g) Had Bl &
(B) *9ie W Cu ffda g 2

(C) TUATE W Oy (g) Gad Bid! &

(D) 9 W Cly (g) o Bidl 8

10. Torefl gom <hife bt Stfufsham i A4-31 1386 THUS 7 | AMUfRAT 1 o
fes (k) 2
(A) 05 x 107
(B) 50x10°g?
(C) 5x1072%s7}
(D) 05 x 1072s7
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Aspirin 1s formed by the acetylation of :

(A) Benzoic acid

(B) Phenol
(C)  Salicylic acid
(D)  Phthalic acid

8. An azeotropic solution of two liquids has boiling point higher than either

of them when it ;

(A)  1s saturated

(B) shows positive deviation from Raoult’s law
(C) shows negative deviation from Raoult’s law

(D) shows no deviation from Raoult’s law

9. During electrolysis of aqueous CuCl,

(A)  H, (g)1s liberated at cathode
(B) Cuis formed at cathode
(C) Oy (g)1s liberated at anode

(D) Cl, (g) 1s iberated at cathode

10. Half-life period of a first order reaction i1s 1386 seconds. The rate constant

(k) of the reaction is :
A) 05 x10°s7!
(B) 50x10°s7"
(C) 5x102g7"

(D) 05 x 102g7"

56/2/2-12 7 dlbaih bt aihs P.T.O.
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11. e amsusiia faada & Iy fadaq & 99 e &1 31ufees 39989 0-0225
J

g | AU foet™ o1 AId-379
(A) 0-80

(B) 0-725

(C) 015

(D) 0-0225

12. AR 2A + B, ——> 2AB

9T = k [A]? [Bol.

a7 T (k) 1 A Q1T ST Hohdl @
(A) A <hl Hiedl JE&e

(B) B hl HIgdl dglht

(C) dN¥ dalehl

(D) 3Wad Yt i o g

ST GEIT 13 @ 16 & 70, 31 &97 70 710 § — [G77 Uk &1 HAT9FHIT (A) 79T
gER &1 FHRUT (R) GRT 3Alebd 67 74T § | 37 I941 & &gl 3¢ 19 13T 7T Figt
(A), (B), (C) 3% (D) T & g7 F1Iv |

(A) AMUHIYT (A) AR HRO (R) AT T 8 JAR SR (R), ATHSRAT (A) 6l
g3 g1 Hdl & |

(B) 31U (A) 3T SR (R) THI T&l &, Tq Rl (R), AMHRAT (A) i
&l AT T8l Hidl 8 |

(C)  ANTHYH (A) F&l 8, T~ RO (R) TAd 2 |

(D) 3T (A) Terd 8, T Rl (R) &l 7 |
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11. The relative lowering of vapour pressure of an aqueous solution
containing non-volatile solute 1s 0:0225. The mole fraction of the

non-volatile solute 1s :

(A) 0-80
(B) 0-725
(C) 0-15
(D) 00225
12. The rate of the reaction 2A + B > 2AB 1s given by

Rate = k [A]“ [By].
The value of rate constant (k) can be increased by :

(A) 1ncreasing the concentration of A
(B) 1increasing the concentration of B

(C) 1increasing the temperature

(D) all the above three

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) i1s not

the correct explanation of the Assertion (A).
(C)  Assertion (A) 1s true, but Reason (R) 1s false.

(D)  Assertion (A) 1s false, but Reason (R) 1s true.

56/2/2-12 9 RN YNy P.T.O.
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- wgifes yafus vl &1 foma dfsua Afcmrze gvaww g
feRaT ST HohdT @ |

FRU(R):  Ufehd e Afcses @ Icd ROURH o @Y ATRLE
SIRE IR G

14. 379597 (A) : RNA T Taa & 3ufeyd gran g |
FRT (R) : RNA Ty deriu &dT & |

15.  37/9%97 (A) : Ufcthiesh UHHI & SRUAN-EN @gu UOHfes THHT 6 gamm |
3fereh TARA B 2 |

HRU(R) :  UUHIEH UHHI o SEUANIH AU TG S901d & |
16. 37Y%g7 (A) : Ufeha i aern wfefemge (¢_)—NHCOCH,) q &rehm
g1 2 |
FROT(R) : U o UHICA & R0 UHHAES H A8 W saad

gcd 9 AT 2 |

wis d

17. Ta=tafEa get =1 gferfya ki - 2% 1=2

18. (%) fehl o f=ATIRgd T § F HIH-AT s AT digar § Syl
TRt il 8 A =i ?

¢ H—CH,C1 s ( )—CH,yCl

(@) f=fiRgd d &3 3cd1g TeTiaT 2x1=2

E::j ]qu,tﬂﬁaﬂﬁTgﬂﬂﬁl
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13. Assertion (A): Aromatic primary amines can be prepared by Gabriel
phthalimide synthesis.

Reason (R) : Alkyl halide undergoes nucleophilic substitution with
anion formed by phthalimide.

14. Assertion (A) : Uracil base is present in RNA.

Reason (R): RNA undergoes self-replication.

15. Assertion (A): Diazonium salts of aliphatic amines are more stable than
those of aromatic amines.

Reason (R) : Diazonium salts of aromatic amines show resonance.

16.  Assertion (A) : Acetanilide (¢_)—NHCOCHS,) is less basic than aniline.

Reason (R):  Acetylation of aniline results in decrease of electron
density on nitrogen in acetanilide.

SECTION B

17. Define the following terms : 2% 1=2

(a) Essential amino acids

(b) Nucleotide

18. (a) In the following pair of compounds, which compound undergoes
Sn1 reaction faster and why ?

¢ H—CH)Cl OR (_)—CHyCI

(b)  Write the major product in the following : Z2%.1=2

56/2/2-12 11 WP NP iy P.T.O.
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19. forefl wum ife b1 arfufspar o1 a7 T 1-25x107° s 8 | 39 31yt
5g %l 2:5g H = H Tehadl 90T T ? 2
| log 2 =0-301, log 3 =04771, log4 = 0-6021 |

20. (%) TAAAIE ITH=H M1 8 ? A-UHIIS ATHad hl o1 § Teh dad 8 G

v @ §I9 UfdeA1as e At gar & | & 2 1+1=2
HAAT
(W) AT 91q¢ HUE Tl % I= 1 b1 el 8 ? 3d-3vfi § feE qw
shl UM TUH TFH FH g ? 1+1=2

21. JiET (HIeR ge99M = 60 g mol ) o1 4% faeram forelt arsma wefes wered &
5-2% Taetaq o 1Y THITE 8 | AT hleiideh g 1 30 R Tiehlord
qf\}rq | 2% 1=2

dus 1

22. d9 H 17°C ¥ 27°C d dig i W foret e stffsran w1 a1 o9 741 2
ST 8 | 39 SAMThAT o o7 ATshATT Hoil o1 TRehed I | 3
[ feam T 2 : 2303 R = 19:15 JK " mol %, log 3 = 0-48 ]

23. THTaRgd 9« 1 [9.91. 9 (emf) TiehieTd qﬂf:rlq : 3
7Zn (s) | Zn2* (0-1 M) || Sn2* (0-001 M) | Sn (s)

O 0
fm 2 : E) 94y, =—076V, Eg 24/q =—014V
[ log 10 = 1]

24, 283 K R forefl faames &1 a1 §@ 100 mm Hg 8 | 39 a7 f9c@ &1 arey
g Uiehlicld i fad 283 K W fohdll Jadl To¥[d-319eed AB &1 1 Ad
faet@eh @ 50 AId H g1 § (I8 HH g fob Taed AB quid: faifera &1 S
g) | 3

56/2/2-12 12 VWA
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20.

21.

22.

23.

24.

56/2/2-12 13

A first order reaction has a rate constant 1-25 x 10~ s *. How long will

5 g of this reactant take to reduce to 2-5 g ? 2
[log 2 = 0-301, log 3 =0-4771, log 4 = 0-6021 ]

(a) What 1s lanthanoid contraction ? Actinoid contraction is greater

from element to element than lanthanoid contraction. Why ? 1+1=2

OR

(b) Why do transition metals have high enthalpy of atomization ?

Which element of 3d-series has lowest enthalpy of atomization ? 1+1=2

A 4% solution of urea (molar mass = 60 g mol 1) is isotonic with 5-2%
solution of an unknown organic substance. Calculate the molecular

weight of the unknown organic substance. 2% 1=2

SECTION C

The rate of a gaseous reaction triples when temperature is increased

from 17°C to 27°C. Calculate the energy of activation for this reaction. 3
[Given : 2-303 R = 19-15 JK ~ mol %, log 3 = 0-48]

Calculate emf of the following cell : 3
Zn (s) | Zn2* (0-1 M) || SnZ* (0-001 M) | Sn (s)

leen . E%n2+/zn — 076 V, E%n2+/sn — - 014 V

[ log 10 = 1]

The vapour pressure of a solvent at 283 K 1s 100 mm Hg. Calculate the
vapour pressure of a dilute solution containing 1 mole of a strong
electrolyte AB 1n 50 moles of the solvent at 283 K (assuming complete

dissociation of solute AB). 0

Ty P.T.O.
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95. TrmifeRaa sfifrareti §f A, B 3t C 1 e fafa - ox1l=3

2
. NaOH + B
(%) CH3—CH2—BI‘ KRCN >A aﬁﬁnqﬁlj- >B 4 " 1'2 > C
NO,
(@) @ Fe + HCl A NaNO, + HCI B C,H-OH e
273 - 278 K
26. THfaRgd O Fag ATHfshan fofau - 3x1=3
(%) ToH-ThIT =
(@) ToepEIeded ATTshaT
() ohiemr SANfshan
27. Tafafaa & fawmm & fou fufsaneti & g e : (S5 77) Ix1=3
() FARESIH o HHA
(@) WHIA ¥ Sfcdfcsarss
()  UHEA O 2-HATFH U
(9)  HHIA | fulsher 377
28, TTHAfIREd o ol RO ST 3x1=3
() FARM T AL IS g 3 W 1 I8 TUReH gorari—a
Tfaeema TtHTshatati I 377 /90 e 7 |

(@) fafies fusor gaur sl g g |

(A1)  n-AYAT FARES 6l U VAt FARTSS Aferes 3Mgar & So1-319dfed &l
ST & |
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o
gcollegedumaa
India’s largest Student Review Platform

-




25. Write the structures of A, B and C in the following reactions : 2x 1 é =3
— NaOH + B
() CH3—CHy—Br —SN o OH = g N&VRTPH . ¢
Partial hydrolysis
NO,
NaNO, + HCI C,H-OH
b @ Fe + HCl | A 2 R otls C
i ’ 273_ 278K ’
26. Write the reaction involved in the following : Ix 1=3
(a)  Wolit-Kishner reduction
(b)  Decarboxylation reaction
(c) Cannizzaro reaction
27. Give the equations of reactions for the preparation of : (any three) Ix1=3
(a) Phenol from chlorobenzene
(b) Salicylaldehyde from phenol
(c) 2-Methoxyacetophenone from anisole
(d) Picric acid from phenol
28. (Give reasons for the following : Ix1=3
(a) Chlorine 1s ortho/para directing 1in electrophilic aromatic
substitution reactions, though chlorine is an electron withdrawing
group.
(b) Racemic mixture is optically inactive.
(c)  Allyl chloride is hydrolysed more readily than n-propyl chloride.
56/2/2-12 15 ibibiitid it h i P.T.O.
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HTTcTRET Jo7 Ha-3TTETRT J97 8 | 3G &1 TS GleT 37 17T 7T F¥71 & I T /

Lls Y

29. HHAU GG b IQEIF THIY AYAT H H d-H&H A BId 8 | T
QAT | 3TTIeTeh YRA d-he&rehl ohl 3UYTd TshHUT dwdl hl 3THhHY dwl &
3T L il & | AT €9 d 9Rd d-H&ehl & RV I dd S ATALh
U7 SRId &, 918 3k STFEIeh{U] LT, T AT Sl ST AT 3 TehK
o foTTeel o &g dpcl 0T 3ATiC | FshHU 91U T $9oh A1k IcUTeh! 0T 9
ITFhT g’ W qRTd & | HhHU YTqU 3T(d e dYT 3{cd dArsasiiel glal
g | 3 E;'/I%/M  HMI <hl A= IHEd Jaid gurld & :

0
M?T/M
Vv _ 118
Cr - 091
Mn —1-18
Fe — 044
Co —0-28
N1 — 0-25
Cu + 0-34
/n —0-76
A TARgd J941 o 3T SIfog
() TohE STTYR W EH g Fohd & Toh Cu Teh HshHU ad & olichd Zn &l ?
(YCHTY] SHHTeh : Cu = 29, Zn = 30)
(@) HshHY ded TRl TaLenati § fafaedn o1 g3d = ?
56/2/2-12 16 AAAMMAMMMAMAAAAMANAA
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SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Transition metals have incomplete d-subshell either in neutral atom or in
their ions. The presence of partly filled d-orbitals in their atoms makes
transition elements different from that of the non-transition elements.
With partly filled d-orbitals, these elements exhibit certain characteristic
properties such as display of a variety of oxidation states, formation of
coloured 1ons and entering into complex formation with a variety of
ligands. The transition metals and their compounds also exhibit catalytic

properties and paramagnetic behaviour. The transition metals are very

hard and have low volatility. An examination of the E§42 - values
shows the varying trends :
EE/IQJVM
\Y% - 1.18
Cr - 091
Mn —1-18
Fe —0-44
Co - 0-28
N1 —0-25
Cu + 0-34
/n —0-76

Answer the following questions :

(a) On what basis can we say that Cu i1s a transition element but Zn 1is

not ? (Atomic number : Cu =29, Zn = 30) 1
(b)  Why do transition elements show variety of oxidation states ? 1
56/2/2-12 17 RN RIS P.T.O.

o
gcollegedumaa
India’s largest Student Review Platform

-



@ @G ddfezw 9 5 9% E° % W AAHG ygfa i gud

M2*/M
2 7
(i) HShHUT GTGAT H STTFETRIUT STTEAT3T shl TR IIAT FHHAT el
hl TREd-=dar ¥ fopd JhR 9= gidl 8 ? Ix1=2

HAIT

(M) () Cr®" 9o 39=Eh & Sefh Mn°" Yol ATqeihrieh, Ssfh el
g d* =i &, i 2
(THTY] ShHTeh : Cr = 24, Mn = 25)

(i) T A Gt qui hIfST - 2x1=2

2MnO, + HoO + 1~ >

30. HIEIEESe YLl 3T JIVRT H1 H Siiad o foiu 37eedes &id & | 9iel ° e
Sl TE TR IR | TATZHISH o € H HIAIEI3ge TUEY U shl HiTd e
Bd 8 | THEHS ® § I Uilcrgsgiad! Ufcegise ol Sidq B 7 |
FTERISSE] ol IAA-AYISH H 3Id9h oJggl o YR W HHERIES,
HITATHBUZES 3R qTTdhigs | Fifiehd foham M1 8 | {9t AH-AhUsS Tq=rll
ek Bid] @, AU I e ATehHeh YT BioH faer™q & Tadiehd &l Al & |
TR ST A hSS UeSioddis aidl a8 3TN 3Hehl 3Mfaeh g3 CgH190g T
T | fafy= sl S HI, HoN — OH, SiHH Sid, (CH3C0)o0 3Tie
T IATHAT Hich FEh! =T H Teh Ufcsase T4z, T JITHS Ucdhigliclh
98 (- CHy,OH) 3R =R fgdioe Ueshigilals @98 (>CHOH) 9T 7T |
Ufcegrss Hqg 3UfEyd gld U Wl 7hiE Ufcearse |g 6l $ fuisham S9
3% w{ierur, NaHSOg IS A&l ¢dl 8 | I8 WEhid & Gl Tshid gHIUHISA &I
o I&icd ol THATEI & ~o=H T9=Tar shad C — 1 W UM gEgiioddl THg

=g | gidl 2 |
56/2/2-12 18
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(¢c) (1) Why do E;/Iz - values show irregular trend from Vanadium

to Zinc ?

(11) How 1s the variability in oxidation states of transition metals

different from that of the non-transition elements ? 2x1=2

OR

(¢ (i) Of the d* species, Cret is strongly reducing while Mn°* is
strongly oxidizing. Why ? (Atomic number : Cr = 24, Mn = 25)

(11) Complete the following ionic equation : 2x1=2

2MnO, + HoO + 1~ >

30. Carbohydrates are essential for life in both plants and animals.
Carbohydrates are used as storage molecules as starch in plants and
glycogen 1n animals. Chemically they are polyhydroxy aldehydes or
ketones. On the basis of their behaviour on hydrolysis, carbohydrates are
classified as monosaccharides, oligosaccharides and polysaccharides. All
monosaccharides are reducing sugars, 1.e., they are oxidized by Tollens’
reagent and Fehling’s solution. A monosaccharide like glucose is
aldohexose and 1ts molecular formula was found to be CgH{90g4. After
reacting with different reagents like HI, HoN — OH, Bromine water,
(CH3CO0O)50, etc. 1ts structure was found to contain one aldehyde group,
one primary alcoholic group, (- CH,OH) and four secondary alcoholic
groups ( > CHOH). Despite having the aldehyde group, glucose does not
give some of the reactions of aldehyde group like Schiff’s test, NaHSOg
addition. This explains the existence of glucose in two cyclic hemiacetal

forms which differ only in the configuration of the hydroxyl group at
C-1.
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SheaeId, Hshld, cideld, Toideld 1

() 39 UiTAARUSS 1 A0 Sase 8 Yoft e wal S 2 | 36 9Tof
W #1 had g ? 2

AT

() (1)  ThIE h 3 HHEIG! % AH FqRC NHS ThI T H C - 1 W
— OH 99g * fa=ma § gt fy=ar gl 7 |

(ii) THME HI Bro A b HIY AUHAT hT TIhAicHe THE !
Jqferfa i gfs L 7 2 2x1=2

©is s

3. (%) () 005M CH,COOH faciad =1 Wity 100 34 9&1 &0 | Iig
g o 00354 em™! B, d UHIfew s faom hi Hier

ITAhd] UNehicdd hifolU |

(i) HUS % Togd-Tqeed &1 yom W fafeu | 1 9 MnO, !
Mn** § 9= & foIu %0 # fpaq smast <t sreawehar grft 2
3+2=5

HAAT
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Answer the following questions :

(a) What are reducing sugars ? 1

(b) Classify the following into monosaccharide and disaccharide :

Fructose, Sucrose, Lactose, Galactose 1

(c) Name the polysaccharide which is known as ‘animal starch’. Why 1s

it called ‘animal starch’ ? 2
OR
(c) (1) Name the isomers of glucose which in the cyclic form differ

only in the configuration of the — OH group at C — 1.

(1) Presence of which functional group was detected when

glucose reacted with Bry water ? 2x1=2

SECTION E

31. (a) (1) The resistance of 0-05 M CH35COOH solution is found to be

100 ohm. If the cell constant 1s 0-0354 cm_l, calculate the

molar conductivity of the acetic acid solution.

(11)  State Faraday’s first law of electrolysis. How much charge in

Faraday is required for the reduction of 1 mol of MnO, to

MnZ2* ? 3+2=5

OR
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(@) ()  0-0025 mol L~ UHifesh 310t I =meiehdl 525 x 10° Sem ™' 3 |

A

gfe WHifesr a0 & fW AL, 1 79 390 S cm? mol ! B, @
Hhl TS HTET BT Uehald hifau |

(i) S 9 deU o UATS, helig TR Ty Al fofgu | 3+2=5

32. THIRgd ¥ ¥ fohgl grer & I ST 5x1=5
() SATHCThIT Hpol hl Tshtedd & fadred ol (o) fhE ThR Iqsheichid
gehel hl TaUTed 91 (A,) H Halod & ?
(@) T=iIRgd dshet s ITUPAC A TAIRgT -
[PtCly(en)s] (NOg)o
(1)  FFTehdl AEY g (VBT) o IUR | #%a [Ni(CO),] Ht STl
3T geIohid SR filgu |
(&)  ¥PdA [Co(NHg)gl [Cr(CN)gl o GRI Tohd YehR ehl THIGIGAT 23 SATdl
2 ?
(&) forted &3 fagia & smur W Tl SumgaasH A@ifies § d* smm =
siagii-eh fo=ad ey Ifg A < P &1 | 991 98 IuHgEdlsH Il 3=
JEshUl AYET T TshUT Tl & ?
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(b) (i) The conductivity of 0.0025molL™" acetic acid is

5.25 x 10™° S em ™. Calculate its degree of dissociation if A?.n

for acetic acid 1s 390 S cm2 mol_l.

(1) Write anode, cathode and overall reaction of lead storage

battery. 3+2=5

32. Answer any five of the following : dxdl=5H

(a) How is the crystal field splitting energy for octahedral complex (A,)

related to that of tetrahedral complex (A;) ?

(b)  Write the IUPAC name of the following complex :
[PtCly(en)sg] (NO3)o

(c) Write the geometry and magnetic behaviour of the complex

IN1(CO),4] on the basis of Valency Bond Theory (VBT).

(d) What type of isomerism is shown by the complex
[Co(NHg)gl [Cr(CN)gl ?

(e) For the coordination compound on the basis of crystal field theory,
write the electronic configuration for d* ion if A, < P. Is the

coordination compound a high spin or low spin complex ?
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(F)  [Co(NH3)gl°" 3 [Co(NH3),Clylt ® & HiH gelaifdsh Hped B 3K
0 ?

(B)  [PtCly(en)ol*" o Jehf¥Teh HHIGHET hl TTEATE STST |

33. (&) () T=AfIRgd & »ro e

e T,

(1)  <hIeHl hl gotT H Ufcegrssl ol STTaiientu] AT gial 8 |
(2) UfcegEel o UeHhl (o) BISGISH GTHTUAT shl Tehld TFall

gl g |
i) T=fafEg tafseanst & Idre fafkau
COCH,
NaOH/I2
(1) @ > Y 4+ 9
COCl

(2) @ + (CHjy),Cd > ? + CdCl,

(iii) UIATSH A 3T VYA H fa¥e » o U axa garfaes gheqo
i | 242+1=5

HAJT
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() Out of [CO(NH3)6]3+ and [Co(NH3),Cly]", which complex is

heteroleptic and why ?

(g) Draw the structures of optical isomers of [PtCly(en)g]**.

33. (a) () Account for the following :

(1) Oxidation of aldehydes 1s easier as compared to

ketones.

(2) The alpha (a) hydrogen atoms of aldehydes are acidic

1n nature.

(11)  Write the products in the following reactions :

COCH,4

@ NaOH/ I,
(1) > 7 + ?

COCl

(2) @ + (CHgy),Cd > ? + CdCl,

(111) Give a simple chemical test to distinguish between ethanoic

acid and ethanal. 242+1=5

OR
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(@) () SAAcEass & 2,4-SIESehARISS M il B=HT 915U |

(i) TH=fIRad =1 39kl HCN o 9fd SA{¥ishaTsiicrdr = sgd §¢ 39 |
oqq@d{rQQ:

CH3COCH3 (CHg)3C — COCHg , CH3CHO

(iii) M9 ®HA BHIEEHE HHES $ a5k A H [ JhKR
YT hid] ?

(iv) dslfcegrse 3R VY4 H fa¥ue »d & T atd TE-eh qaeon
fIRgU |

(v) TTHIRga ATshaT § & 3c91g ToTRaT

(i) NaBH,
| (11) H
O bxl=o
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(b) (1) Draw structure of the 2,4-dinitrophenylhydrazone of
benzaldehyde.

(11)  Arrange the following in increasing order of their reactivity
towards HCN :

CH3COCH3 (CH3)5C — COCHg , CH3CHO

(11) How can you convert phenyl magnesium bromide to benzoic

acid ?

(iv) Give a simple chemical test to distinguish between

benzaldehyde and ethanal.

(V) Write the main product in the following reaction :
(1) NaBH,
CHy-C-CH, -COOCoHy ———/——> 7
| (11) H
O 5x1=5
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